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1. - 5. sorulari, agsagidaki pargaya gore
cevaplayiniz.

We (1)---- things, then use them and throw away the
packaging. Most of our trash ends up in landfills. It
can sit there for decades. It contaminates the (2)----
and ecosystems around it. Even recycling uses
more energy than most people (3)----. Reducing the
amount of garbage is one of the best ways to (4)----
the planet. It is also necessary for people to make
some (5)---- changes in their lifestyle.

A) patience
B) soil

C) fault

D) blame
E) debt

) realize
) spoil

) dismiss
) depend
E) connect

A
B
C
D

A) publish

B) disappear
C) save
D)
E)

A) jealous
B) harmful
C) famous
D) important
E) spacious
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6. - 10. sorulari, asagidaki pargaya gore
cevaplayiniz.

When Amelia Earhart was 10 years old, she saw

her first plane at a fair. Aimost a decade later, she
attended an exhibition, so she became seriously
interested in aviation. On January 11, 1935, she
made a trip from Honolulu to Oakland, and she
became the first woman to fly solo across the
Pacific Ocean. In 1937, around her 40" birthday,
she wanted to be the first woman to fly around the

world. Unfortunately, her plane got lost in the Pacific
Ocean and they couldn’t find her. It is still one of the

greatest mysteries of the world.

6.

10.

Amelia Earhart is the first woman pilot in
the world.

A) True
B) False

Amelia Earhart opened an exhibition when
she was 10 years old.

A) True
B) False

Before Amelia Earhart, no woman had flown
solo across the Pacific Ocean.

A) True
B) False

Amelia Earhart lived in Oakland until she
was 40 years old.

A) True
B) False

They found the remains of Amelia Earhart’s
plane in the Pacific Ocean.

A) True
B) False
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11. - 13. sorulari, agagidaki pargcaya gore
cevaplayiniz.

Windsor Safari Park in the south of the UK closed in
1992 and 4 years later Legoland opened there. It is
a theme park for children between 3-12 years old.
You can go on the Atlantis submarine voyage and
experience life under the sea. These submarines
move silently not to disturb the sea life. There are
over 2,500 sharks and tropical fish and more than
50 different species. The huge aquarium contains
a million litres of water. All of the water is recycled.
There are plenty of other attractions as well. Kids
can be young explorers in Adventure Land. They
can try and find hidden treasures in Kingdom

of Pharaohs. In Land of the Vikings they sail in
unfamiliar waters. So with plenty to do, it is sure to
be a fantastic day out for all the family.

11. It is stated in the passage that Legoland ----.

A) is suitable only for adults

B) was built near a park in 1996

C) is home to many different kinds of
submarines

D) has been open since

E) is the name of a toy submarine

12. We can learn from the passage that kids in
Legoland ----.

A) are frightened of sharks

B) must swim very well

C) can take part in interesting activities

D) like the Atlantis submarine voyage best
E) need help for some activities

. According to the passage, before Legoland
opened ----.

A) there was Windsor Safari Park in its place

B) kids hadn’t seen a submarine

C) families didn’t have anywhere to go at
weekends

D) there were many theme parks outside the
UK

E) children didn’t enjoy visiting parks

018/01
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14. - 18. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Cigarette packages have started to come with
graphic warning labels. (14) They aim to shock
smokers. Most of (15) them are teenagers. The
images are actually quite shocking: A toe-tag on

a corpse. A mother is blowing smoke on her baby.
Some photos of healthy lungs and smoke-damaged
lungs. (16) These are just a few of the 36 new
warning labels for cigarette packages. “(17) This
is the most important change in cigarette health
warnings in the history of the United States,” says
Matthew L. Myers. (18) He is the president of

the Campaign for Tobacco-Free Kids. Almost 21
percent of American adults, or 46.6 million people,
and about 20 percent of high school students, or
3.4 million teenagers, are smokers.

What do the underlined words refer to?

14.
A) smokers
B) tags
C) shocks
D) teenagers
E) graphic warning labels

15.
A) labels
B) cigarettes
C) tags
D) smokers
E) warnings

16.
A) the packages
B) the teenagers
C) the images
D) the mothers
E) the cigarettes

17.
A) shocking many smokers
B) most of the teenagers
C) American people
D) kids and adults
E) putting warning labels on cigarette
packages

18.
A) the Campaign for Tobacco-Free Kids
B) Matthew L. Myers
C) the people in America
D) 20 percent of high school students
E) 3.4 million smokers
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1. - 3. sorulari, asagidaki pargaya gore
cevaplayiniz.

The environmental movement in the USA started
developing in the 1960s because factories dumped
their waste directly into rivers across the country.
For example, the Housatonic River changed colour
from one day to the next because a nearby factory
was making colourful paper. Heavy smog covered
the cities. In Los Angeles, some business people
changed their shirts during the day because the
soot in the air had made them dirty by lunchtime.

In New York, the air was sometimes so dirty that
tourists couldn’t see the city below from the Empire
State Building’s observation deck. However, no one
really thought much about pollution back then.

1. Itis understood from the passage that in the
1960s ----.

A) there weren’t many factories in America

B) pollution wasn’t a big problem in any part of
the world

C) factories didn’t produce much

D) many people complained about pollution

E) people became more aware of the
environment

According to the passage, the Housatonic
River ----.

A) is still heavily polluted

B) was negatively affected by the nearby paper
factory

C) has always been close to many factories

D) produces the best quality paper in America

E) is one of the longest in the world

We can understand from the passage that

A) the Empire State Building is very high

B) the people in America were concerned
about pollution in the 1960s

C) air pollution in the USA was the worst of all
the countries

D) the smog was heavier in the morning

E) many people worked in the Empire State
Building in the 1960s
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4. - 6. sorulari, agagidaki pargaya gore
cevaplayiniz.

Africa is one of the sunniest places in the world,
but it was called “the Dark Continent” several
hundred years ago. Europeans saw it as a big
and dangerous place that was filled with primitive
people. Few people had travelled all through the
continent, so it was a mysterious place. That must
be the reason for the name “the Dark Continent”.
However, Africa has been home to many advanced
civilizations. Archaeologists still uncover more clues
about them. We now know that Africa had an Iron
Age culture with cities and trade routes in about
250 BCE.

4. We can learn from the passage that Africa
was called “the Dark Continent” in the past

A) as there was no electricity there

B) because Europeans didn’t know much
about Africa

C) by some primitive people on the continent

D) after the mysterious incidents on the
continent

E) and then many people visited the continent

5. According to the passage, the name “the
Dark Continent” isn’t suitable for Africa ----.

A) but the people on the continent like it very
much

B) although it is used throughout Europe

C) but it is suitable for Europe

D) as it is the name of an ancient civilization

E) because it is one of the world’s sunniest
places

6. Itis clearly stated in the passage that ----.

A) many people went to Africa in the past
B) Africa was discovered in about 250 BCE
C) Europeans like Africa because of its sunny

climate

D) archaeologists are still learning new things
about Africa

E) there are many cultural developments in
Africa now
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7. - 9. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Dance has existed since the earliest records of
human life. When you look at the history of dance,
you can see it reflects the changes in the way
people see the world. At times in western history,
dancing has been outlawed and even banned. In
ancient Egypt the pharaohs performed ceremonial
dances. These ceremonies symbolized the death
and rebirth of the gods. While dance is a part of
entertainment, it can also improve social life.

7. ltis clearly stated in the passage that dance
is an old art form, ----.

A) but at some points in history it has been
banned

B) so in the past it was just for entertainment

C) but not as old as the ceremonies in the
West

D) it was always very popular in western
history

E) it has never served as a symbol

8. According to the passage, dance is used in
a variety of ways except ----.
A) ceremonies for pharaohs
B) western films
C) entertainment
D) death of gods
E) rebirth of gods

9. Itis suggested in the passage that ----.

A) history of the dance can give clues about
the societies of the past

B) ancient Egypt was the most civilized society
in history

C) dance should only have serious purposes

D) people never convey messages through
dancing now

E) only ceremonial dances were banned in
ancient Egypt

019/02
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10. - 12. sorulari, agsagidaki pargaya gore

cevaplayiniz.

Second-hand tobacco smoke is very dangerous to
non-smokers, so smokers put the people around
them at risk from serious health problems. The
effects of passive smoking can occur quickly or
slowly. Eye irritation and headaches can occur in 15
minutes. However, these effects are not seen among
some people because their bodies may develop

a tolerance to smoke. The longer-term effects of
passive smoking are usually permanent and harmful
to the human body. For example, it could be very
harmful to pregnant women. Passive smoking can
cause breathing problems in children. It is also
certain that lung cancer is linked to passive smoking.

10. The passage mainly deals with ----.

A) the serious health problems of smokers
B) health problems of newborn babies

C) eye irritation and headaches

D) the risks of passive smoking

E) short-term effects of smoking

11. It is stated in the passage that passive
smoking ----.

A) has short-term and long-term effects

B) is only harmful to little children

C) usually shows its effects in a very short time

D) causes unimportant health problems

E) has already caused many deaths all over
the world

12. It is clear in the passage that ----.

A) only smokers can get cancer

B) passive smoking can be harmful to
everyone

C) babies hardly have breathing problems

D) eye irritation and headaches can occur in
the long term

E) passive smoking is more harmful than
smoking
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1. - 8. sorularda, bos birakilan yere
parcanin anlam biitiinliigiinii saglamak
icin getirilebilecek ciimleyi bulunuz.

In ancient Greek stories, Hector is the
leader of the Trojans in the Trojan War.
Hector does many brave things during the
Trojan War. He fights Ajax the Greater in
single combat. ----. In the end, they declare
it a draw. Achilles goes into a rage when
Hector kills Achilles’ dear friend Patroclus,
so Achilles cruelly kills Hector with the help
of Athena.

A) The Trojan War still influences literature and
arts
B) Troy was located near the Dardanelles
C) They fight all day long
D) Few of them returned safely to their homes
E) The cause of the war is a quarrel between
the goddesses

2. The appearance of a sea star will change
from species to species. Most of the time,
they will have the classic five-arm shape. It
makes them resemble the star of a sheriff’s
badge. ----. For example, the sea star
Labidiaster annulatus has 50.

A) Sea stars have two stomachs, but no legs

B) Sea stars are often called starfish though
they are not actually fish

C) Sea stars eat sea urchins, mussels and sea
cucumbers

D) Many sea stars swallow their prey whole

E) However, some have 10 to 15 arms

ydspublishing

3. Piet Hein was a scientist, inventor, poet and

Paragraph Completion

author as well as a mathematician. He was
the creator of popular games such as the
Soma Cube, Hex, Morra, Polytaire, TacTix,
Qrazy Qube and Pyramystery. ----. Yale
awarded him an honorary doctorate in 1972.
He died in Denmark in 1996.

A) Several years later, he joined Technical
University of Denmark to study engineering

B) In addition, he came up with a new
geometrical form, the super ellipse

C) Many of these poems were political in nature

D) Among them, Hein was known by the pen
name “Kumbel”

E) He lived on Funen, the third largest island of
Denmark in that year

The Blue Jay is a white-faced bird with a
characteristic blue crest, back, wings and
tail. It has a black collar around the throat
and head. Its bill, legs, feet and eyes are
also black. ----. However, males are slightly
larger than females.

A) Blue Jays are generally loud and aggressive

B) The male and female Blue Jays build the

nest together

These birds use odd things to clean their

feathers

Male and female Blue Jays are almost the

same in appearance

E) Blue Jays prefer to live in forests because
they can find a lot of food in them

Cc
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The true story of Santa Claus begins with
Saint Nicholas. He was born in the 3™
century in the Greek village of Patara. His
wealthy parents died in an epidemic when
Nicholas was very young. ----. He used

all of it to help needy and sick people. He
was very generous to children and to the
people in need. He is known for his love for
children and his concern for sailors and
ships.

A) Through the centuries, people have told
many stories about St. Nicholas’ life

B) There are about thirty-eight ancient stories

about Saint Nicholas

He inherited a lot of money from them

St. Nicholas’ remains are buried in Bari, Italy

All the poor people loved Saint Nicholas

because he gave them gifts and money

Cc
D
E

—_—

Did you ever wonder why the days are so
long in the summer and so short in the
winter? The length changes throughout

the year. In the summer, on 21%t June, we
have the longest day of the year. And in the
winter, December 21 is the shortest day.
----. The longest day is in December and the
shortest is in June.

A) But if you live in Australia, you experience the
opposite

B) However, the Earth is closest to the sun
between January the 3™ and 5"

C) So, the longest day and shortest night of the
year mark the beginning of summer

D) Therefore, we consider June 21 the first day
of summer and December 21 the first day of
winter

E) That's why the coldest days usually happen
in January and February

020/03
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7. Laila, 26, is the daughter of a retired world

heavyweight boxing champion, Muhammad
Ali Clay. She is the youngest of Muhammad
Ali’s seven children. Laila has been boxing
professionally for many years now. ----.
Since then, she has won nine more fights
forcefully, and has made her father very
proud.

A) She is also interested in cooking and doing
Pilates to stay in shape

B) She has just opened a Halloween mask shop

in California

She is going to model in a fashion show in

New York next month

In October 1999, she defeated April Fowler in

31 seconds

E) She was born on December 30, 1977

o

=)

----. However, when the weather gets
warmer, their leaves grow back again. We
call these deciduous trees. Other trees
have leaves or needles that fall off a little
at a time. These types of trees are always
growing new leaves. As the old leaves fall
off, new ones replace them. We call these
trees evergreens.

A) Some trees keep their leaves throughout the
cold season

B) The leaves of an evergreen tree last for years

C) Evergreen trees remain green during the
whole year

D) Many trees lose their leaves when the
weather gets cool

E) There are many evergreen plants in the wet
tropics
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1. - 12. sorularda, ciimleler sirasiyla
okundugunda parg¢anin anlam
biitiinligiinii bozan climleyi bulunuz.

(I) Taj Mahal is one of the most beautiful
buildings in the world. (ll) It is the finest
example of Indian Islamic architecture. (lll) The
Mughal emperor Shah Jahan ordered his men
to build it after his wife Mumtaz Mahal died in
1631. (IV) The emperor’s name, Shah Jahan,
comes from a Persian word and it means “King
of the World”. (V) They completed it between
1632 and 1638.

A) | B) Il C) 1l

D)IV E)V

2. (I) Bald eagles mainly feed on live fish. (ll) They
snatch the fish out of the water with their sharp
claws. (lll)They sometimes feed on dead
salmon along the stream banks, too. (IV) Baby
eagles learn to fly at three months of age.

(V) Bald eagles also eat ducks and other birds
in addition to small mammals such as rabbits.
A) | B) Il C) 1l

D)IV E)V

(I) Chemicals with petroleum are harmful for
human health (ll) Petroleum, or crude oil, is

a thick and black liquid. (Ill) It consists mainly
of hydrocarbons. (IV) It is mainly found in the
Middle East, North America, and Russia. (V) It
is the most important energy source as it
supplies 38% of the world’s energy.

A) | B) Il C) 1l

DIV E)V
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4.

Finding the Irrelevant
Sentence

(I) At the turn of the 20™ century, several
inventors and their inventions significantly
changed the world. (Il) Thomas Edison gave
us electricity and the Wright brothers gave us
airplanes. (lll) Alexander Graham Bell gave us
the telephone. (IV) Then Henry Ford and his
Model-T car completely changed our lives.

(V) Ford paid the workers at his factory five
dollars a day.

Al Bl Cll DIV E)V

(I) Sparta was a city of soldiers and had a huge
army. (ll) All Spartan boys had to join the army.
(111) On the other hand, Athenian men began
their formal education at the age of seven, and
continued until age eighteen. (IV) They left their
families at the age of seven and began training
for battle. (V) They remained in the army and
fought until age 60, when they were able to
retire.
A) | B) Il C)

D)IV E)V

(I) Leonardo da Vinci’'s greatest painting is

on display at the famous Louvre museum

in France. (Il) We know Leonardo da Vinci

as a painter, but he was also an engineer,

a scientist and an inventor. (lll) He studied
human anatomy and developed ideas for many
inventions. (IV) He designed a flying machine,
a propeller, and weapons of war. (V) He also
designed and built bridges, canals and locks to
carry water and move ships.

A) |

Byl C)lll
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7.

(I) Carbon is an element and it exists all over
the world and in every living thing. (II) Oxygen
is another common element in the world.

(1) The air also contains water vapour, dust
particles, and ozone. (IV) When these two
elements bond together, they form a colourless,
odourless gas called carbon dioxide. (V) When
people burn coal, oil, and natural gas, they also
produce carbon dioxide.

Al Bl Cll DIV EV

(I) Tennis has evolved from a game similar to
modern handball. (II) Ancient Greeks, Romans
and Egyptians played this game. (lll) In later
times, the people of French monasteries

also played a game like tennis. (IV) At first,
they played this game with bare hands, but
eventually began using short bats. (V) Today,
however, tennis balls are usually optic yellow in
colour.

Al Bl Cll DIV EV

(I) Religion was extremely important in Aztec
life. (I1) In fact, the Aztec Empire was one of the
strongest civilizations in the Americas. (lll) The
Aztecs worshipped hundreds of gods and
goddesses. (IV) Each god or goddess ruled
one or more human activities. (V) The Aztecs
respected and feared their power and often
organized religious ceremonies to thank them.

Al B)IlL C)lll DIV EV

021/04
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10. (I) Hurricanes are severe tropical storms.

(I1) They form in the southern Atlantic Ocean,
the Caribbean Sea, the Gulf of Mexico, and in
the eastern Pacific Ocean. (lll) The Pacific is
the largest ocean in the world and extends from
the Arctic in the north to Antarctica in the south.
(IV) They have winds travelling at least 74
miles per hour. (V) When hurricanes come onto
land, they cause a lot of damage to buildings,
trees, and cars.

Al Byl C)ll DIV EV

11. (I) Erosion is the physical movement of

sediments and rocks from one place to another
by forces of nature. (Il) Erosion is happening
around us all the time. (lll) Sometimes it
happens so slowly that we don’t realize it.

(IV) Over long periods of time, erosion can
move mountains and dig holes as big as the
Grand Canyon. (V) The Grand Canyon’s oldest
sedimentary rocks date back almost two billion
years.

Al Byl C)ll DIV EV

12. (I) About 220 million years ago, India was

an island. () With the motion of continental
plates, it drifted north and very slowly crashed
into Asia about 40 million years ago. (lll) Then
its northward motion created the Himalayan
mountain range. (IV) The Himalayas attract
a lot of visitors as a spiritual centre and as a
trekking paradise. (V) The same motion still
continues today, and therefore, Mount Everest
is growing by about four centimetres per year.

Al Byl C)ll DIV EV
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1. - 4. sorularda, verilen ingilizce
climleye anlamca en yakin Tiirkge
climleyi bulunuz.
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2,

Before he left the house, he switched off all
the lights.

A) Butin 1siklar sondurdikten sonra evden
ciktr.

B) Butln isiklar sondurtr sondiirmez evden
cikti.

C) Evden ¢ikana kadar igiklarin higbirini
sOndirmedi.

D) Evden ¢ikmadan 6nce butln isiklar
sondurdu.

E) O evden gikmada 6nce bitin isiklar sondu.

Indian scientists have found that
peppermint oil chases away mosquitoes.

A) Nane ruhunun sivrisinekleri kovdugunu
kesfedenler Hintli bilim insanlaridr.

B) Hintli bilim insanlari, nane ruhunun
sivrisinekleri kovdugunu kesfetmistir.

C) Hintli bilim insanlarinin kesfine gore, nane
ruhu sivrisinekleri kovmaktadir.

D) Nane ruhunun sivrisinekleri kovdugu Hintli
bilim insanlari tarafindan kesfedilmistir.

E) Hintli bilim insanlarinin kesfettigi sey nane
ruhunun sivrisinekleri kovdugudur.

ydspublishing

Translation

3. Environmental pollution has become a
significant problem in developing countries.

A) Cevre kirliligi, gelismekte olan ulkelerde
6nemli bir sorundu.

B) Gelismekte olan ulkelerin 6nemli
sorunlarindan biri gevre Kirliligidir.

C) Gelismekte olan tlkeler, Gnemli bir sorun
haline gelen gevre kirliligiyle miicadele
etmektedir.

D) Buyuk bir 5nem teskil eden gevre kirliligi
gelismekte olan Ulkelerin en buyuk
sorunuydu.

E) Cevre kirliligi, gelismekte olan Ulkelerde
Onemli bir sorun haline gelmistir.

4. People with phobias may experience panic
attacks because of a specific situation or a
trigger.

A) Fobisi olan insanlar, belirli bir durum ya da
tetikleyici yiziinden panik atak gegirebilirler.

B) Belirli bir durum ya da tetikleyici yliziinden
panik atak geciren insanlarin fobisi olabilir.

C) Fobi, insanlarin belirli bir durum ya da
tetikleyici yuzunden panik atak gegirmesine
neden olabilir.

D) Fobisi olan insanlarin gegirdigi panik
ataklar belirli bir durum ya da tetikleyiciden
kaynaklanabilir.

E) Fobisi olan insanlarin panik atak
gecirmesine neden olan belirli bir tetikleyici
durum olabilir.
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5. - 8. sorularda, verilen Tﬁ(kge
climleye anlamca en yakin Ingilizce
climleyi bulunuz.

5. Hastahgini yillarca bir sir olarak sakladi,

fakat gercek sonunda ortaya cikti.

A) When the truth finally came out after years,
he still insisted on keeping his illness as a
secret.

B) He is determined to keep his illness as a
secret for years, but | think the truth will
come out in the end.

C) Though he wants to keep his illness as a
secret, the truth will probably come out in
the end.

D) He wanted to keep his iliness as a secret,
but everybody finally learned the truth.

E) He kept his illness as a secret for years, but
the truth came out in the end.

6. Cocuklugumuzdan beri yaz tatillerimizi hep

deniz kenarinda gegirdik.

A) When we were children, we always spent
our summer holidays at the seaside.

B) As children, we always liked playing at the
seaside when we were on holiday.

C) We always spent our summer holidays at
the seaside during our childhood.

D) We had always spent our summer holidays
at the seaside until we grew up.

E) We have always spent our summer holidays
at the seaside ever since we were children.

022/05
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Polis, hirsizliklarla ilgili olarak bir adami
sorguluyor.

A) The police are questioning a man in
connection with the burglaries.

B) After the burglaries, the police questioned
many men.

C) The police will question the man responsible
for the burglaries.

D) The police asked a lot of questions to the
man about the burglaries.

E) The police are questioning the burglars
about their connections.

Oniimiizdeki hafta sonuna kadar tarih
sinavimizin sonuglarini 6grenmis olacagiz.

A) They will announce our history exam results
at the end of next week.

B) We will be learning our history exam results
this time next week.

C) ltis impossible for us to learn our history
exam results before next week.

D) We will have learned our history exam
results by the end of next week.

E) We won'’t learn our history exam results until
they announce them next week.
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1. - 5. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Mount Everest was formed about 60 million years
(1)----. It is part of the Himalayas. The mountain
was named after Sir George Everest, a British
surveyor in the mid-nineteenth century. In 1953
Edmund Hillary and Tenzing Norgay (2)---- the first
to conquer Mount Everest. Since then, more than
3,000 people (3)---- the climb. It has an extreme
climate. The summit temperature never (4)----
above freezing. The youngest person to reach the
peak (5)---- Mount Everest is Jordan Romero. He

was 13 years old when he made the climb in 2010.

1.
A) during
B) yet
C) ago
D) soon
E) just
2.

A) will become
B) have become
C) are becoming
D) become

E) became

A) are making
B) were making
C) will be making
D) have made
E) make

A) rose

B) rises

C) was rising
D) will rise
E) had risen
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6. - 10. sorulari, asagidaki pargaya gore
cevaplayiniz.

In 2012, the world’s best athletes gathered in
London, England, for the 2012 Summer Olympic
Games. The opening ceremony took place on July
27. A British artist, David Watkins, had designed the
medals for the world’s best athletes. On the front

of the medals was the image of Nike, the Greek
goddess of victory, walking out of the Parthenon
and entering the Host City of the Olympics. On the
back was the London 2012 logo with an abstract
design. Also on the back was an image of a ribbon
behind the logo. It represented the Thames River in
London. More than 2,100 medals were given to the
athletes during the ceremonies. The Chairman of
the London Organizing Committee of the Olympic
Games said that it was a wonderful festival of sport
and culture in the world’s greatest city and it was
more magical than ever.

6. 2012 Summer Olympic Games were held in
London, England.

A) True
B) False

7. One of the athletes had designed the
medals.

A) True
B) False

8. Nike is the Greek goddess of peace and
harmony.

A) True
B) False

9. The ribbon behind the logo represented the
River Thames.

A) True
B) False

10. There were only 2100 medals for the
winners.

A) True
B) False
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11. - 13. sorulari, agagidaki pargcaya gore
cevaplayiniz.

The first postage stamps, the ‘Penny Black’ and the
‘Two penny Blue’ were issued in Britain in 1840.
Both have a picture of Queen Victoria. Before that
time, either the sender or receiver paid the charge
for handling a letter. The charge for a short distance
was usually ten cents. The post offices in England
and in the USA were losing money with this system.
An Englishman, Rowland Hill, said that a lower
price for handling letters would encourage more
people to send them. He wanted postage stamps
to save time and trouble. Today people are sending
e-mails instead of letters, but there are still people
collecting stamps.

11. It is stated in the passage that the ‘Penny
Black’ and the ‘Two Penny Blue’ were ----.

A) issued by Queen Victoria

B) the names of the Queen’s daughters
C) the first postage stamps

D) living in Britain in 1840

E) the two portraits of Queen Victoria

12. We can learn from the passage that either
the sender or the receiver ----.
A) issued the postage stamps
B) lost money
C) paid the charge of handling a letter
D) suggested a lower price
E) stopped handling letters

. According to the passage, Rowland Hill ----.

A) was working in a post office

B) encouraged more people to work in post
offices

C) would become a businessman

D) thought postage stamps were waste of
money

E) suggested that postage stamps save time
and trouble
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14. - 18. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Port Glasgow is a town in Scotland. It stands on the
River Clyde about 20 miles from the city of Glasgow.
(14) It is a small industrial town with a shipyard

and other industries. The town is divided into two
parts because some of the town is beside the river
and some of (15) it is on the hills above the river.
Most of the men work in the shipyard and most of
the women work in clothing factories. But there are
still unemployed people in the city because there
isn’t enough work in the shipyard or in the factories.
Some of (16) them have to leave the town and find
work in other cities. If young people want to study
at a college or at university, (17) they also have to
travel outside Port Glasgow because there is no
higher education there. Life is easy for older people
because (18) they can go for a walk on the hills or

sit in the park beside the river and enjoy themselves.

What do the underlined words refer to?

14.
A) Glasgow
B) River Clyde
C) shipyard
D) Port Glasgow
E) Scotland

15.
A) hills
B) river
C) town
D) clothing factory
E) industries

16.
A) other cities
B) most of the men
C) the city
D) most of the women
E) the unemployed people

17.
A) young people
B) older people
C) college
D) university
E) outside

18.
A) young people
B) parks
C) life
D) older people
E) higher education
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1. - 3. sorulari, asagidaki pargaya gore
cevaplayiniz.

The Inuit need powerful and suitable means of
transport to travel because the place they live is
surrounded by the oceans, lakes and seas. They
have developed two different types of boats for
their different needs. The kayak is something like

a canoe and it is covered by a deck. It can carry
one person but some of them can carry two people.
The deck of the kayak is covered so it can tip over
in water and roll back up without filling with water.
The Inuit use the kayak especially for hunting.

The umiak is another boat. But it is not covered

like the kayak. It is an open boat and it can carry
ten to twelve people. They use the umiak to carry
their things from one place to another and also for
hunting larger animals.

1. Itis understood from the passage that the
Inuit ----.

A) are powerful people

B) have developed two different types of boats
C) hunt on the land

D) need a boat with an engine

E) dive underwater to find food

According to the passage, the kayak ----.

A) is like a canoe

B) is very big and useful for the Inuit
C) can easily sink

D) hasn’t got a deck

E) is made of metal

We can understand from the passage that
the umiak ----.

A) is used for camping

B) cannot carry more than five people
C) is bigger than the kayak

D) is covered by a deck

E) is used mostly for hunting by the Inuit
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4. - 6. sorulari, agagidaki pargaya gore
cevaplayiniz.

Headlines are very important parts of a newspaper
because they give an attractive appearance to a
newspaper page. They also point to the importance
of the stories. The most important stories have

the largest headlines, and the less important ones
have smaller headlines. But writing headlines is a
difficult skill. You should only use a fixed number of
letters and they should fit into a limited space. This
restricts the writer’s choice of words and it becomes
a difficult task for the writer. There is another
important thing about the headlines: They present
a few facts of the story so the reader will be curious
about the whole story. When the headlines catch
the reader’s eye, they will buy the newspaper. So,
they help the sale of the newspapers.

4. We can learn from the passage that
headlines ----.

A) resemble telegrams

B) are usually on the upper right-hand corner
of the page

C) provide contrast with the stories

D) are very boring and unattractive

E) have great importance in a newspaper

5. According to the passage, the headline
writer ----,

A) can write the headlines easily and quickly

B) has the easiest job in a newspaper

C) should write large headlines for the less
important stories

D) has a difficult job to do

E) had better write all the facts about the story
in a headline

6. lItis clearly stated in the passage that the
curious reader ----,

A) will buy the newspaper

B) can only read the headlines and doesn’t
buy the newspaper

C) reads only the important stories

D) is interested in reading less important
stories

E) likes to write headlines for the newspaper
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7. - 9. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Infected mosquitoes spread a disease called
malaria. Symptoms of malaria can include chills,
fever and vomiting. The disease can spread easily
and quickly. One mosquito with malaria can infect
a lot of people. While malaria can exist in cool
climates, it is more common in tropical climates
like Africa. In parts of Africa, malaria can infect all
the population. Many of these populations live in
the country and they haven’t got enough medical
care and hospitals. Malaria can be prevented

and treated, but many African nations don’t have
enough money to fight against it. So the developed
countries should help African Nations. They can
start campaigns and help the people of Africa.

7. ltis clearly stated in the passage that the
symptoms of malaria ----.

A) can spread quickly and easily

B) continue to increase

C) are chills, fever and vomiting

D) can infect a lot of people

E) are more dangerous among children

8. According to the passage, many people in
Africa ----.

A) don't live in the country

B) cannot have enough medical care

C) shouldn’t have a lot of children

D) don’t need hospitals

E) won’t be able to live in tropical climates

9. lItis suggested in the passage that the
developed countries ----.

A) used to start campaigns

B) find different ways to fight with malaria
C) can be indifferent to the problem

D) should help the people in Africa

E) sent doctors to Africa
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10. - 12. sorulari, agsagidaki pargaya gore
cevaplayiniz.

Leopards are part of the cat family. They are well
known for their cream and gold spotted fur, but
some leopards have black fur with dark spots. A
leopard’s body is built for hunting. They usually hunt
at night and protect their food from other animals
by dragging it high up into the trees. A leopard will
often leave their prey up in the tree for days and
return only when they are hungry. They are also
excellent swimmers and climbers. lts tail is just
about as long as its entire body. This helps it with
balance so it can make sharp turns quickly.

10. The passage is mainly about ----.

A) fur

B) hunting

C) leopards

D) wild animals
E) trees

11. It is stated in the passage that leopards
protect their food from other animals ----.

A) by hunting at night

B) because they are good swimmers
C) so they are never hungry

D) by hiding it up into the trees

E) with the help of their long tails

12. It is clear in the passage that ----.

A) leopards cannot swim and climb well

B) each adult leopard has its own area

C) many leopards are killed each year for their
fur

D) all leopards have cream and gold spotted
fur

E) there are also some leopards with black fur
and dark spots
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